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4. Pinjore gardens are also called as 4 fisn O
(A) Vrmndavan (&) %ﬁ?‘_‘—%mﬁﬂ?ﬁi L
| (B) Yadavindra gardens vB) ez My
(C) Mandanavana (O
(D) Rose gardens (D) =
5. is the main soil problem in| 5. BN H e g gaEn
Haryana. U
(A) Drought (B) Soil erosion
(C) Earthquake (D) Flood

Consider the foliowing statements ’t'“'u
River Dolphin. |

(4) Théyaré’faurﬂinaangaﬁﬁﬂmhmap ra

river basin u

(B) Locally they are called 'Susu’
G} They are a blind species
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14. Find the num

e (D) 343
15. Har!._fana has a histo -

Ynasty
(A) Mughal (B) Slave
(C) Bharata (D) Nizam

16. Which of the followin

gcommitteessetupto | 16, i WA & HaY H e
make recommendati

Duties ? SR Ehdamenta H A - By wrd md 2
' A) e afif

(A) Gadgil Committee {Ef' Sin

(B) Swaran Singh Committee (E) j amf q

(C) Santhanam Committee 1C) ?ﬂq;{im _

(D) J. 8. Verma Committee (D) <. ua. =ui wiufy 3
17. Solutions of the equation 17. GHIEF 4% - 4a%x —g—_,{ﬂf-,-:ehﬁ-ﬁ,_

4x% — 4ax + (a* —b*) =0 are () 22-b2 e2pe

aE - b2 EE + bE ; I 2 2 y
(A) > o

{E;l '-E'.'-hb.,_lﬂ,'-_!l‘h;.
(C) 2a% D%, 2aD
i--,?'}--z,ﬂ'.‘il
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(B) a+b,a—-b
(C) 2a%b + b? 2ab
(D) 0,0

18.

19. Whichoft | r of the Indian |
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20. During which year Sacchar :
& b a I’urrnura wWas

(A) 1947 (B) 1948
(C) 1949 (D) 1948

21, I'YES'is coded as ‘49, 'NO’ is coded as
(A) 29 (B) 19
(C) 39 (D) 25

22. Two conducting wires of same material of

equal lengths and equal diameters are first
connected in series and then in parallelin a
circuit across the same patential difference.
The ratio of heat produced in series to
parallel combinations would be
(A) 1:2 B) 2:1

(C) 1:4 (D) 4:1

23. Consider the following statements about
the coastal plains of India.

1. The Western Coastal Plains are an
example of submerged coastal plarn

2. Eastern Coastal Plains provide for the
natural condition for the dwarnprmnt
of ports and harbours.

3. Eastern Coastal Plainis hma,de&ard
is an example of an emerdent maﬂ

4. Eastern Coastal Plain Wﬂ“vﬂ

eastward in o the Say of Bengal.
Select the answer code.

(A) 1and (|8 e
© 3m113i'? D) 1,3
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mﬁqammﬁquﬁm
ﬂaﬁémﬂﬁlmﬁmmﬁm
FHIF AT EM

1B) ;&1

(A) 1:2
D) 4

(C) 1:4
:;m m:; :r:_;? ;ﬁmﬁ#‘m‘ﬁ ﬁmﬁdﬁamﬂm
Ee

23,

3 wmmwtﬁwwm o+

ﬂ?ﬂﬁ:mmﬁt
F S FmE

5




4/2018 (1) (E18)
26. Which of tha following is not a factors of
production ?
(A) Fixed capital
(B) Working capital
(C) Dividend earned by entrepre neurs
(D) None of the above

27. Ifthe equations 3x —ay =9 and X +Y = 3
represent the same line thena =

(A) 3 (B) -1

{C} -3 {D) none of these
28. Rani Jhansi Marine National Park is

situated in

(A) Tamil Nadu
(B) Pondicherry

(C) Andaman and Nicobar Islands
(D) Lakshadweep

29. The value of col 12° cot 38° cot 52° cot 60°
cot 78% is

(8 0
¥
© 3 )

<0, Haia_aﬂs ‘Ulnisa is written by'
R _Jﬁl hﬂafHussl;an Haali

(B) 1
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(8) FHAE G
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(D) IF 8 A 37 _.
27. T2 wrffeEoT 3x — ay = 9 3 x +y = 3HR
:I'ET G| ﬁ'lﬁ %, Gl a=
(A) 3 B) -1 i\
AC) -3 (D) FHaS
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33. IfP(E)=0.38, then probability of "ot E' is
(A) 0.72 (8) 0.73

(C) 0.62 (D) 0.5

34. Four cubes each of side 4 cm are joined
endto end. The surface area of the resulting

solid is
(A) 144 cm? (B) 16 cm?
(C) 288cm? (D) nene of these

35. Haryanacomessecondafter_  in

cattle breeding in India.
(A) Karnataka (B) Punjab
(C) Gujarath (D) Tamil Nadu

36. Read the following statements.

1. Atpresentin india there are more than
750 universities,

2. Sarva Siksha Abhiyan is aimed at
providing elementary education to
all children in the age group of 7-14
years.,

Select the right answer code.

(A) Both are wrong

(B) 1 only

(C) Both are right

| a7, wwe
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39. If'k'means '+, 'm' means ‘! ‘n' means <,
and 'p' means '+ then 15n2k5mépd=

(A) 16 (B) 6
© 7%

(D) none of these

40. Five years ago, a woman's age was the
square of her son's age, Ten years |ater,
her age will be twice that of her son's age.

Find the present age of the woman.

(A) 25years
(C) 20 years

(B) 24 years
(D) 30 years

If 0 is the zero of the polynomial

f(x) = 2ax® + (a + 1)x— 5a then valug of a is
(A} 5

(B) O

(€) 1

(D) none of these

41.

A musical instrument with single sinng
attached to a Bamboo piece is called as

(A) Chimta {B)
(C) Damru (D) Iktara

42.

Drum

Which of the following is ncorrect with
reference to the urbanisetion process under
British rule in the 167 caniury ?

(A) Inthe process iaw urban spaces
called Civil Lines were set up, 10
accommodate Indian elites

i
29, i s 3l ), i A, S
s @ ad W 15n2k5mép4=
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vo 7 (D) FHAFE T
a0, e O, G it o 3T 39 A Y

Far o | 104 772, 39! G T A Y
ﬁﬁ@ﬁmﬁlmﬁ-ﬂﬁ?mm
|

(B) 2474
D) 30H

(A) 254
(C) 2074
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4a. Find the word which is different from the
‘other 3 options given below. j

(A} Polite
(8) Citizen
(C) Impatient
(D) Humble

45. To welcome rains
celebrated in Haryana.

(A) Deepavali

(B) Onam

(C) Tee

(D) Naga Panchami

festival is

The Islands of this archipelago have storm
beaches consisting of uncensolidated
pebbles, shingles, cobbles and boulders
on the eastern seaboard. Here the island
refers to
(A) Andaman and Nicobar "ﬂl
(B) Gulf Mannar |
(C) Rann of Kuchchh

(D) Lakshadweep and Minicoy " ® l\

The values of x and y sa o
equations (- b_-] A :..-:?_-:." .
‘and (a +b) (x +y) =4abar?

47.
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48. The age of Retirement of Chief Justice o

Supreme Court i
(A) 62 (B) 64
(C) 65 (D) 66

50. The Tajewala Barrage is located on the
river
(A) Yamunanagar (B) Gaggar
(C) Saraswathi (D} Ganga

S1.  Find the missing letters (7) from the options
for DEF, GHI, JKL, 7, PQR
(A) NOP
(B} LMN
(C) MmN
(D) MNO

52. Cow slaughter in Haryana is punishable with

under Gauvansh Sanrakshan

(A) Rigorous imprisonment ranging from
_ 81010 years
{B) Rigorous imprisonment ranging from
1to2years

o Pl |

¥ ?{c} w imprisonmant of 6 months

(D) Rigorous imprisanment ranging from

the oMowing s e about Homs
Movement in India 7

o1 DEF, GHI, kL, 2, poR % for fresert 5
ST A (2) e = | e

(A) NOP

(B) LMN

(C) MM

«1D) WNO
62, hewn wfemn # wiew Few Frm & @
EieEecich S

v(A) 3 & 10 78 F3n FETE
(B) 1 & 27 F2R FEE
(C) 6 B T3 EHRTEE
(D) 2 73w HEE 4
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61. Sunder Dassisa
(B) Hindi poet

(A) Jain poet

(€) Haryarvi (D) Urdu poet
'62. Lala Lajpat Rai participated In gwadeshi

- Andolan from & district of Haryana.

(A) Sonipat (B) panipath

(C) Hisar (D) Rohtak

63. The sum of a two digit number and the
number obtained by revarsmg the order of
its digits is 121 and the two digits differ by 3
Then the number is
(B) 370r73

(A) 47 or 74
(C) 250r52 (D) none of these

_Haj;&f[s:‘-w]-_m:h are good conductors of heat
: the following

A) Silver (B) Lead
C) Mercury (D) Zinc
f circle inscribed in a square of side
(B) 2ncm?
(D} dner?
‘Dam is also known as
(B) Bakra ilangal
(D) Chamera

od Security Act, 2013

65. T 4EM, ﬁaaﬁﬁaﬁfﬁh@ﬁw

“TA) 47 or74

B) a7
©) 5

(D) T A ~.1.
64. Frfefiag & 3 a2 ag st s gaeme |
ww
(C) TR (0) s
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g9. They had not done their work.,

AA) Their work had not been done by

them'
(8) Their work was not done by them
(C) They have not done their work
(D) Their work is not done by them %

70. Whom did you laugh at ?
~ _{A) By whom was you laughed at ?
(B) Who was laughed at by you ?
(C) You were laughed at by whom ?
(D) Did you laugh at who ?

Eill in the blanks with appropriate prepositions.

It is very different to enter

partnership with a person you do not know
very well.
(A) into

~(B8) on

(C) with &

(D) by

nl

72. A Banyan tree siands _—— "
Yamuna river.

English Langu2d®
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until midnight lgft night.
74. e ¢
A) | haveread
(B) |have been raa;img "

(C) lam rg'gding
(D) |was reading

Use appropriate modals to fill in the blanks.

75. Do not put off till tomorrow what yoL
do today.

(A) would

(B)

(©)

“10)

could
will
can
76. lranfastsothat| ____ catch the
train. -
(A)
(B)
~1C)
(D)

should e
may
shall
will

Fill in the blanks with the correct

donsle: s
(A)
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